)

1 1 1 1T T T 1T

™2 Ox1 ©Oxt  ®x1

2

2
®2 445
S @x8 ®x24 @x24 ®x18 ®©x2

- L
Ld
NI Y

4
\\ _
\\s_ _+

Schraube M8*12

HERSTERA GARDEN SL c/ Conca de Barbera, 14-16 Pol. Ind. Pla de la Bruguera 08211
Castellar del Vallés, Barcelona, Spain
Telefon : +34 93 720 61 41 Fax: +34 93 720 61 40 www.hersteragarden.com


nb
Textfeld
Schraube

nb
Textfeld
Telefon


Schraube M8*16
Schraube M8*16

©
.
Q
e
(/2]
1 .
o
L

Aufbauanleitung

Schraube M8*16

Option B

Schraube M8*16

HERSTERA GARDEN SL c/ Conca de Barbera, 14-16 Pol. Ind. Pla de la Bruguera 08211

Castellar del Vallés, Barcelona, Spain

:+34 93 720 61 41 Fax: +34 93 720 61 40 www.hersteragarden.com

Telefon



nb
Textfeld
Aufbauanleitung

nb
Stift

nb
Stift

nb
Stift

nb
Rechteck

nb
Rechteck

nb
Rechteck

nb
Rechteck

nb
Rechteck

nb
Textfeld
Schraube M8*16

nb
Textfeld
Schraube M8*16

nb
Textfeld
Schraube M8*16

nb
Textfeld
Schraube M8*16

nb
Textfeld
Schraube M8*16

nb
Textfeld
Schraube M8*16

nb
Textfeld
Schraube M8*16

nb
Textfeld
Schraube M8*16

nb
Textfeld
Telefon




